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=M | X |27 |MY ETHAL XAt £t} =80t H 1
1 [ 2] 1 |[2aE, 22 MZo|QiL? ZOIX[ZE  [=2tolgt 20|~ |8, 2lab M. J2/E 18, 0T &Y 13,000 1 13,000
2 | 3| 1 |HotztCH= 7 2Ho|of AHAE A2 AEIQt EEAER X E, H3E &4 13,800 1 13,800
3 = 1 |[AZ=si& MAOH =TT Jled 220l Ag, HiYHZ Sa=EE 18, P 82, o= e 13,000 1 13,000
4 =l AR [WA=R=13:]] Zlgd galol Xig, HPHE S2AR2E 1Y, B &, O|EA X2 13,000 1 13,000
5 i 1 75; %BHE :ﬂﬁtoH |_|-_I?_Eét[]| 718 galof X8, HYM2 SStE2E 138, Ha 82, 0|2 X2 ']3’000 1 13[000
6 i 1 75=!_I'E_ L|.A-| _/_.‘\_)gsw |_|-_I?_Eét[]| 718 galof X8, HYM2 SStE2E 18, Ha 82, 0|2 X2 ']3’000 1 13[000
7 a 1 §|.I|__|- Df%0| A|—E|—X|7'|| 3}21 E? |_|-_'?_E£|:|| Jled gelof XIS, HigHE S2t=2E 1Y, Be &2, 012 A2 13,000 1 13,000
8 | 3| 1 4oty agn fF CEgs HEL2EE o2 Ee XS, 229 &4 13,000 1 13,000
9 [ 2| 1 |LHIt BeR Sot2 o E=mAt | EA XS dise 21 O, dist g 14,000 1 14,000
10 3] 1 |Ho| *FE S0 &4 Satzmab A C IXHE K|, 027t oiCLt 12, ol §2 12,000 1 12,000
11| 3| 1 [d=st A M URAE Aot XS, A=l J8 14,000 1 14,000
12 (3 1 |Ltel &2 A HMOAO{2Io] |MEZ HE XS, otz X0 2, 8% 2 13,000 1 13,000
13| 3| 1 |57#LO2ch SR EANH [2228 32Uzt esl23ses XIS HES & 15,000 1 15,000
14 [ 3| 3 |8 oA HASL|CH L=g AMA. 8% X2, &X3 28 13,000 1 13,000
15 [ 3| 3 |xt& CHE deE XS, AAE I8 12,000 1 12,000
16 | 1 3 |Ct20A 22 22| =4l O oHF et Lttt XIS, Al2LE 22tk 8, 2EH &2 14,000 1 14,000
17 | 2 | 3 |Lte| OofAlO} XI5 FHojzlo OfA|OtQI M 22t CICH X| S, RHXM Z & 14,000 1 14,000
18 | 3| 4 |Het=d: 5 H X7 BE7| ZHofzlo| S XS, %Ry O, ojge I 24,000 1 24,000
19 2 4 [z A EEER FERE 13,000 1 13,000
20 | 3| 4 [Hes B2 0|5 ZE HE X3 Fos a8 15,000 1 15,000
21 | 2 | 4 |URE, ®XoH 0|2 ZE HE XS, Fols &4 15,000 1 15,000
22 | O | 4 [HEdHy EFAFELOf 24 HoHl X| &, o|7M &4 14,000 1 14,000
23|22 4|2 EF L0 2 giojH| X| g, 7| FH 14,000 1 14,000
24 | 3| 5 |otd BE S0l =H ozt x5, 4215 328 14,800 1 14,800
25 | O | 5 [=4rd g, 2ty X|Zo|7} E|Ct AZA| S2lEH AELOPOlE| A2l X8, 2 S22 U0A 28, RAM &3 14,000 1 14,000
26 | 2| 5 [FEEFREE SHEETAL  [HERI271018-20 RIS, 2led M2 18, 2ad 82 14,000 1 14,000
27 | O] 8 [EFEURIENME 74-E0| 7HE0l X|&, o|&o| a8 13,000 1 13,000
28 | O | 8 A% xIF ¢ Etef) JHALLE O|F3| X|& 14,000 1 14,000
29 [ O | 8 |¥0Or &2 0|27t s 0|0p7| J2f7k840] AE0| X| S 15,000 1 15,000
30 [ 2] 8 |22, & g b x2g =228 15,000 1 15,000
31 | 3| 8 |A%A EX| OMe 2oz I YHol2 X g, WA E2PE 18, HE E22X §2 12,000 1 12,000
32 | 3| 8 [t EOHE HOf oF 4o T M 2 AYe 2 28, 225+ F4 12,000 1 12,000
33 | O | 8 [H A IHE| 2 g2 = Ol 2 A IEE X, 8|a ¥ 18, AAM U 13,000 1 13,000
34 [ O | 8 |MES vs IR WES 200 AlHEEF AHO|2 X2, BZI3| & 13,000 1 13,000
35 | 1| 8 |x|o|et #Rto| Al2|= 1~9H Z40o{glo| 12,000, 9/ 108,000
36 | 3| 8 |Ui otof] Lt L=4¢ HAg|Lt B X2, ZME & 16,000 1 16,000
37 2] 8 [Hoza. g2 [IE=E=T]] YMa|3 Ye|2 K|S, OI2EL 228 13, Ha 8 13,000 1 13,000
38 | O | 8 [#ZtES X2 HoA L2 20| 3 9 x|g, HEZ =0|14 JE, o|ziof FZ 14,000 1 14,000
39 | 2| 8 |7t Lgoje L2t X| A0 A3 X, B Z28 I8 HXH 2 15,000 1 15,000
4 [ 3] 8 [LH7H MY 24X e 0|&0t X|& 14,000 1 14,000
41 1 3] 8 |EHC =8E LB Fh2t £t 238 d85 54 10,800, 1 10,800
42 | 3] 8 |o]EA Hoe =5 O|2L} sOjAYZAZ 2 12 0|X|Y 22 16,000 1 16,000
43 | 2| 8 [=che A ctal CHHE 22| x|, ofzal 221y 1d, 2ol 82 11,000 1 11,000
44 | O | 8 |XZO/FA : g HaZ AT E7| CHA =2 gH7t EEEHE X|F, 0|8 4 24,000 1 24,000
45 | O | 8 |2F 7t HE1 CH= ojH BIEAEE X5, O|RE &4 13,000 1 13,000
46 | 1 | 8 |0]of7|= =IOk ChE B 2R X|g, otegof Qe O, A0t 82 14,000 1 14,000
47 [ 3] 8 [Al#+3ejgA CHx H7ILt YA XS, F5Hd & 22,000 1 22,000
4831 )] 8 |[LH=EE g X| 2 otHiC|ot X| &, YA &2 16,000 1 16,000
49 | O | 8 |0HE0F XK gag 2ol XS 21,000 1 21,000
50 | 3 [ 8 [HEHE g Bsi 0l XS 19,000 1 19,000
51 | 3 [ 8 |77t =7QIX] 22& HA7|2[ 0]0F7| i SAFEL O Xzl XS 13,500 1 13,500
52 | 3 [ 8 |M+HO|otE o7 et AMSE XS 12,000 1 12,000
53| 2| 8 |& =3t O|Hoy X[= 21,000 1 21,000
54 | O [ 8 [PH20A, oA O/ CIO{&H|  |MOI= 22710 RIS, 2t slAt=2] 8, ottt 52 13,000 1 13,000
55 | 3 [ 8 |7Het 7Hel 10 O] C|Of &H| Hatl] #E XS, 4ol &4 13,000 1 13,000
56 | 3 [ 8 |7tmHiEt7t SHoje O] C|Of &H| dmg e AHEV|E XE 2FH &4 13,000 1 13,000
57| 3 [ 8 [7teHH HHEEIGHE) Atojct 2. 18 12,000 1 12,000
58 | 3 [ 8 [2+70Ory HBHEFIGEE) ALO|Ct X| S 15,000 1 15,000
59 | 2| 8 |&9 21 gren|ay O ol2s 03, 720 A7) 2, A-s &2 15,500 1 15,500
60 | 3 | 8 [no|et M3 Jd2jn 520] HES LZE 7I2X X3, 440 &4 13,000 1 13,000
61 | O | 8 |25 2424 =M= =g X2 14,000 1 14,000
62 | O | 8 [Ltot EfFol HY =4 Li7tdt X| &, 0|2+ &4 14,000 1 14,000
63 | 3 | 8 |#el H2 HESo HA =4 I E 2*E X3, MEIM &2 14,000 1 14,000
64 | O | 8 |4 2o BEAIO|E =9I ¥ oflojo| =EA7| X|g, Ea| ZARE 1Y, 8% 82 15,000 1 15,000
65 | 1 8 |Lt= o|of SXYAE ZHH| R OFMA| 7|2 OpA R X|J, O|AH S 15,000 1 15,000
66 | O | 8 |7I2IS TH&to] Botmpy 22 xS, 2FHel 08 19,000 1 19,000
67| 1| 8 [7EY HE4 FLIOICH XS, SEHE &2 13,000 1 13,000
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68 | O | 8 [Lt= AtRt [Ea 14,000 1 14,000
69 | 1| 8 [0l50] 2ct H|E2 27,000 1 27,000
70 | O | 8 [Rel= Bt HEA 13,000 1 13,000
71 | 3| 8 |MEmE oS MW APAE 13,000 1 13,000
72 | 2| 8 |52 AAE 15,000 1 15,000
73 | 3| 8 |¥ WAl AAE 13,000 1 13,000
74| 1| 8 (8= APAE 17,000 1 17,000
75 | 2| 8 |=ZEEJ2S Yoja MNAE oy =222 X|&, Mod &4 14,000 1 14,000
76 | 2 | 8 |MYOIM 7Y WEDH 1005 HA Atzt2| 00|23 AO0|A X| &, =2 12,000 1 12,000
77 | 3 | 8 |¥F0M IHE W5 1005 23 Att2| 00|32 A0|A X, =27 13,000 1 13,000
78 | 2| 8 |22z XA AAfEEA 11,900 1 11,900
79 | 3| 8 |h ;mE| g2 A2 AHZE ZE X| 3, 2N 13,000 1 13,000
80 | 1 | 8 [2M s0iol 7|2 E2 ¢ MEA 0|2 XS, 24 Ht 13,000 1 13,000
81 | 1 | 8 |L& &F07te? ARLIE EL| HE X3, 14,000 1 14,000
g2 | 2| 8 [aas iz =2 BT ET] 412 X3 =3 12,800 1 12,800
83 | I | 8 [RXAIf En7|et EE T ASFL 0] Of2RA DjAH X| 13,000 1 13,000
84 | 1| 8 [Or2otEA MNESF) 13,000 1 13,000
85 | 1| 8 |ME fe/gn H0|X| F X|S, 0| 13,800 1 13,800
86 | 3 | 8 |Lto| AST of|Ftet AL SEFLH0] 13,000 1 13,000
87 | 2 | 8 |Rels =aict Fljnl 2012 E|H2| X, A2t 2EH|2| 28, 14,000 1 14,000
88 | 1 | 8 |dotol AX O|oF7| & 14,000 1 14,000
89 | O | 8 [1017tX| ® ArEH QX F0{zl0| dFg 18 11,000 1 11,000
90 | 3 | 8 |Lost:Z 912 o 7|H 7= LI OfRHK(ZE L Of 20 ) |43 &2 13,000 1 13,000
91 [ O3 | 8 |AE&S09l 10| 7= LI OfRHK(F L Of 20 &) AM™ 24 14,000 1 14,000
9 | 2| 8 |gt=at el =4, HoPd sy 18,000 1 18,000
93 | 2 | 8 [|=0t0]| & H| = 15,000 1 15,000
94 | 3 | 8 [Tt Mt =X} HOFHX| | st 38 13,000 1 13,000
95 | O | 8 [{AE Li2toiN AH| |~E 12, et 84 13,000 1 13,000
9 | 1 | 8 [A2i= & & = 7O Hol=a ojet Z4 13,000 1 13,000
97 | O | 8 [7IXt EHEEH Hol=a =8 &4 11,000 1 11,000
98 | O | 8 |HIH7|7 LS Hol=a 28 &4 11,000 1 11,000
99 | O | 8 |# SEo| EMEM Hol=a g8 &4 11,000 1 11,000
100| 1 | 8 [OIO|A3EO0| B& Hol=a =8 4 11,000 1 11,000
101 3| 8 |ptE? EF & Hol=a 18,000 1 18,000
102 3| 8 |ZAtE Hol=a g 12,000 1 12,000
103| 3 | 8 [Gl0|tHHE =8 Hol=a = 18,000 1 18,000
104 3 | 8 |2MM =ijH| & Hol=a T 2|3 208 88 4 11,000 1 11,000
105 O | 8 [REYEE or30[Q FY O AL Hol=a T 22 X g &5 4 12,000 1 12,000
106 | O | 8 |RYEE 0F30[e} HICHE 1|F Hol=a =4 12,000 1 12,000
107 3 | 8 [2=0t Hol=a A2 @#| 2 X| S, o|=X| O 8, Med &4 13,000 1 13,000
108 | 2 | 8 [X&o| glZdlZ Hol=a =8 &4 11,000 1 11,000
109 2 | 8 PHI7t R2E2 Hol=a =3 & 12,000 1 12,000
110 3 | 8 [A0|3% AHRoR! Mol=s =3 &4 12,000 1 12,000
111 3 | 8 |5 of2| SHE wx) HojolHrEt AIC| GH] X, o|=T &4 13,000 1 13,000
112 3 | 8 |OtH{X|o A%} Jt4t 7|/I=2(012l0]) 15,000, 1 15,000
113 3 | 8 |otuE fotzh 7|2EE2|(0TRS]) 13,000 1 13,000
114 3 | 8 |=A =0 2+ 27 ¢l I E 13,000 1 13,000
115 3 | 8 [2IAE LiH EELCH I E 14,000 1 14,000
16| 3 | 8 |HojA == H M= oA-SIeA olztdat X|g, ME & 13,000 1 13,000
17 3 | 8 |LH= ofE0] E|FX| =Y FEM X My 2 13,000 1 13,000
18| 3 | 8 [=% Ct Eo|of EY FEM XIS, olgof 2 13,000 1 13,000
119 3 | 8 [8tof| L7t =X} EY FEM XS, A48 2™ 13,000 1 13,000
1200 2 | 8 [=H 181 SHEETHAL 50| CIXtel X|Z, O] 14,000 1 14,000
121 O | 8 |[S= Qtojl §of? SHEETHAL 13,000 1 13,000
122 | O | 8 [HHAMHRAL ZtOf7| SHEETHAL 13,000 1 13,000
123 2 | 8 [H= stEag 15,000, 1 15,000
124 2 | 8 = 71=9 o2 iy staal CHH|= Z2] X8, 25 & mo| 18, Bhg40t0| 82 13,000 1 13,000
125] O | 8 (1ol M EE F? HAFELIO] OHX|C} L2 3 | =4 12,000 1 12,000
126 2 | 8 [otd, L= 7|=I0j0F Her SIotz=L 0]  [oletAt BITO| XIS, CIPtHIENA & 13, ge 2 13,000 1 13,000
127 3 | 9 [3tF 102 MA X =et sot8 ANAE Of7|OfO} M AR &2 X| 2, XAl= &2 13,000 1 13,000
128 O | 9 |OEA O3 o o2 AHERUY golgotolgoinition |3 220 XI5, 2| RAEHE 18, 438 |4 12,000 1 12,000
129 2| 8 |=Fka H| &4 gl0] 2to] X|&, A 14,000 1 14,000
130 O | 0 (=5 2832 7|2= 0te| HIY 2THA ] A Lok H-H XS 19,800 1 19,800
131 of | 1 [O82 2AZ g7t 2| WJT. O3 X8, 487 29,000 1 29,000
132 o | 1 |FlofshE LY OFS o)A St 16,000 1 16,000
133 o | 1 |UA 2 40| ot AjzHEo|2tH MAIR 12,800 1 12,800
134 of | 1 [or29 A EYHAESA 16,000 1 16,000
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135 Of | 1 |2O|X| %= Zof 0|7} UACH HZEH| Al XS 16,000 1 16,000
136 | Of | 3 |JEMoZ AESIE 24 Y ($)§+EEA1£+X15 =gt HE0E XS 17,000 1 17,000
137 Oof | 3 |RZAH 21M7| =2~ 2|At & XS 18,000 1 18,000
138 of | 3 |&0 35 &= 0tol& O|H A a4 A= XS 19,800 1 19,800
139 of | 3 |¥lOfet ELiE 2020 7tE &5 ChHAtOl & A8E XS 16,000 1 16,000
140 | of | 3 [NFTHEEM HH2E HAEEX 3l AR WM 18,000 1 18,000
141 Oof | 3 |0/HQUD I45tH 20tstn ££ = S OFA|OF StojLt X & 16,000 1 16,000
142 of | 3 [ofH OA &oj? SAET O| Xt X|& 15,000 1 15,000
143 of | 3 |[E9 &0 QEFEFEP AOESA =S XS 17,500 1 17,500
144 O-I 3 [f2PtR2E P22t RS O NEHY X7\t 22|29 0[0}7| 0|% 7<K1E|_|- ﬂ% };| = 17’000 1 17,000
45| 0of | 3 |1212 29 H5S $ = 127 HMAZR& Azl HolHH X5, 2H 15,000 1 15,000
146 | of | 3 |.t= msi=A Q10| OFEL|CH Ao A4 ATt KI% 17,000 1 17,000
147 Of | 3 L& HIZ8] =ef? FHHEA S4H| 4 X| 15,000 1 15,000
148 | Of | 3 |HEHHA EWH|C|Xtl Ao XS 17,000 1 17,000
149 | of | 3 |HIEfHA 2 E | C|xtl A4 XS 18,000 1 18,000
150 [ of | 3 |otF 2aiE |3 st Eat A8 XS 15,000 1 15,000
151 of | 3 [OX}E9| ALzl FOLIAE HUAS XS 13,000 1 13,000
152 [ Of | 5 |AY SAESHE= 00| £ FA Hl2| S UM XS 14,800 1 14,800
153 [ Oof | 5 |AIYMICH Lj Of0|t AE3SH= RELIES oY=+ XS 16,000 1 16,000
154 | of | 7 [2oOtE oo YA E HsiCt SEz|e SIEA XS 15,000 1 15,000
155 of | 8 (22 HESY (F)Stn =M B Y O[5 x| 16,000 1 16,000
156 | Of | 8 |22t dff (¥ThH LA 3|2 K& 14,500 1 14,500
157 | of | 8 |Heizutsiz MO} e ¥a28 Xa 15,500 1 15,500
158 | Oof | 8 [x[ABlo Mo =asU4 =874 XS 15,000 1 15,000
159 | of | 8 [mhElA 1 = SEAHA AL 0|21zl x| 2, o0 &4 14,500 1 14,500
160 o | 8 [mI=A2 = SFAHA AL o|gIzl x| 2, 0|01 &4 14,500, 1 14,500
161 Of | 8 |99l Hals TEO|A AJREICH E=GES SAESH XS, A &4 15,800 1 15,800
162| o | 8 |EOIE 1: I A2 0|2y X|& 15,800 1 15,800
163 Of | 8 |EIOFHE 1: MAH WEA2 0|2% X|& 15,800 1 15,800
164 Of | 8 |F2 Tt MIA RA9F FEE Q X|Z, Hioto|H 7|= 18,000 1 18,000
165 & | 8 |F0|1 42 0}o] L& O|ZH X2 12,500 1 12,500
166 | & | 1 |AlE MAS OfEA B RET} A A g XS 11,500 1 11,500
167 | 8 | 1 [Let BSsH T st 450 X2, #Fe 15,000 1 15,000
168 [ A | 1 |CHA S 2X|of? QIALOIE MEE M. ARl 2 X[ 11,000 1 11,000
169| 8 | 3 [OEE &7} MO|AAK|= & CHtEA Sy X2 15,000 1 15,000
170 H | 3 |22=2 FEE S0 HZFAEC|EA 24Xy X2 16,000 1 16,000
171 8 | 3 [100HE It Atmllla Oj2foto| M = AEE X3, 2Lt HIoEM2L O3, Hot 12,000 1 12,000
172 | 8 | 3 [H= S2tM 385t HojUE HEHSA 7|2 X|& 14,800, 1 14,800
173 B | 4 |8 AtH 25 Q70| AIR7| XS, LW & 18,000 1 18,000
1741 ¥ | 5 | =9l SiLHE CoH| = o] 2H XS, © 16,000 1 16,000
175 B | 8 |==9| th 1374 H=F o\ gy FEA XS 18,000 1 18,000
176 | 8 | 8 [BOIM Bt AAE Z2e2 X|g, 25t 1 9,000 1 9,000
177 B | 8 |ZEmE A0z 2 01| 0] X] 32| OF(RHK) QHC| 210 X2, Z=H 18,500 1 18,500
178 | & | 8 |Lboh(¥EY | 013 x& 13,000 1 13,000
179 B | 8 |udS Lzt MME =l Motz X|& 12,000 1 12,000
180 | A | 8 |70l AlG3: oF Al (A AT S oMY B KI% 12,500, 1 12,500
181 0 [KHAFZEFS| X|CHEIQF 1 #o| EHY == KHALE OFA O XS, E 14,000 1 14,000
182 0 [KHAMES| X|CHE S 2 X202k A == HAHE. OO |2, 14,000 1 14,000
183 0 |43t 7IXte| O|C|o] hAS o MXE X|Z, olstE 1%. 12,000 1 12,000
184 0 |SUo|op7|7} QU= B Motsd 2ol X2 16,000 1 16,000
185 0 [A7|st sy Af | FLIO|LZAL |SAER U2A XIS, olaE §3, A7 13,000 1 13,000
186 0 |500{¥ E7| #=E Eof2p . Hst oty | SRR XS 12,000, 1 12,000
187 0 [00¥ E7| H=E EO0j2h: & ety A SRR X2 12,000 1 12,000
188 0 |500¢ E7|E #otzh ojebg A SIS /2 XS 13,000 1 13,000
189 I e e =350| 7l 238 9,500 1 9,500
190 1 [#33, 3E ctAag7] o 207 CHE Izr g, ey Oy 12,000 1 12,000
191 1 [S27t ME HoA CiAtoj2io|f eI B IS, I 2AE 2, ol gE £, ofsi NN EB Y 14,000 1 14,000
192 1 |ulEs|2{ ot # otLof! 2 ENHE d3= X2, Fgor 18 12,000 1 12,000
193 1 (Mol stipEel S8 Lt = MMSEEE XS, 244 8 13,000 1 13,000
194 1 |z gt SR BE 5+ 2% 2a| X, Ldg agl 13,000 1 13,000
195 1 [SEHE gEA =FFA0{ZI0] |olH7tor %KI X, QAER MAH D7, A 14,000 1 14,000
196 1 [0of2Io|E 23t =)ol & HZELASA XN, 782 28, o4 &4 13,000 1 13,000
197 1 [olol gte ATES gt 27|22 AP Zlelop X|1g, A3 18 13,000 1 13,000
198 1 |OpEo| 2 B MEZZ2SHAL Al OF7| 2= 10,000 1 10,000
199 1 |opgiol Chst H| & MEZSHAL AJ|ofo} OjLtA = 10,000 1 10,000
200 1 |OpROl Azt B2l MEZSHAL 2RI LA 10,000 1 10,000
201 1 oo Me ME MEESHAL JHX|7toF 23 Z 10,000, 1 10,000
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202 1 [&2 #H S ttE&= T517| 507HK| O] M7= f4de| X|g, F 18 13,000 1 13,000
203 1 |48 (20jli=) M OlE2= gf|o[&™ =22to|Ql XS, X| 12,000 1 12,000
204 1 [CHE A E8 A ofL|&of? AH5 F2= X8, ¥4 2y 11,000 1 11,000
205 1 [0of2lo] QI A o|of HEE XS, AT I8 18,000 1 18,000
206 1 |8 4, Zoiste 2g ZFez UeEs 157K W | FL|O|ZYAL SMI| OfALE K|S 12,000 1 12,000
207 1 [4zs es B X p5HH 0 20| 14,000 1 14,000
208 1 j_cgol 7|. %a ZISE ga_—r %§|, EE—E’; 0j2|9t Chete R Wals XIS, 0218 WhiEl 13, XM $2, o0 W D] APA 14’000 1 14,000
209 1 [#-o| o|lEE 29 & MAESIR A 14,000 1 14,000
210 1 [Lh= &4ct 2|H LT =% Me|L 2|y |2, ol A& 13,000 1 13,000
211 1 [oi0joiO{ Ct Sroh EXj2|&ENE & 22| FAIL XIZ, olsiLt O 10,000 1 10,000
212 2 NS e d2lA 20F A3} gjejlloto|M= | X -3 $ 12,000 1 12,000
213 2 (M2 Y= a2/2 2ot Mt 2 gjejllotolM= | X -3 gl 12,000 1 12,000
214 2 |M& 9= d2|A 20 A% 3 ggfolotolM= | -3 =] 12,000 1 12,000
215 2 |M& Y= JdelA 20 A3t 4 ggfelotolM= | | H3 oted 12,000 1 12,000
216 2 (M2 Y= 32/2 20t Mt s gjejlloto|M= | X -3 gl S| 12,000 1 12,000
217 2 (M2 Y= 22 2ot Met 6 ojzjeiotolMZ | X H3| el Y3 74 13,500 1 13,500
218 2 |A2|A T EEQ| STFL 0 23 dd= g 12,000 1 12,000
219 2 |M=9 RyE SUFEL O 4E dd= g 12,000 1 12,000
220 2 |Msl & 9" |2 STIFL 0] oto déds A= 12,000 1 12,000
221 2 |ESEN NSt st = STIFL 0] L R - 12,000 1 12,000
222 2 |QLIMRAS 23 YX| STFL 0 dd= g 12,000 1 12,000
223 2 |2 YEA HHolH ALY STFL 0 gt X2, gy 08, dEds A 12,000 1 12,000
224 2 [238=EA MEO HEE SEFLH0] O|gtot X| 2, A3 O8, dds 2z 12,000 1 12,000
225 2 |HZ #HS|0EEs £2 STIFL 0] dds g 12,000 1 12,000
226 2 A AHE ML 82t STFL 0 Bl xS Wee 08 dEds A 12,000 1 12,000
227 2 |slEnjAlt L= XS o™ STFL 0 dd= g 12,000 1 12,000
228 2 |18o=z HE of2lo] Zu AL M OpsAof2I0] (MU 224 XIS, & BAF 18, 28z 22 13,000 1 13,000
229 3 (oL EtA 1 =0] o7 N 7tEal s MM S E XIS, BlotER|A FtAER 08, 015% 8 12,000 1 12,000
230 3 (oL et 2 =2 ojE A HtR? N7t E el DM [H S E XIS, BotER|A FtAER 18, 015% 82 12,000 1 12,000
231 3 |HL| A 3. =2 O|EA ME=Enar el 7tsa = 2T SHE XS, HOtER|A FtAER O8], 0|55 &2 12,000 1 12,000
232 3 (MU HA 4 E2 {EA £7182 N 7tEal s MM S E XIS, BlotER|A FtAER 08, 015% 8 12,000 1 12,000
233 3 |7k&0| 233 HoA CHARO{210| S0| AEtOIA BN F XIS, AU 24 18, 0158 82, 0ot HEAEHA RS 14,000 1 14,000
234 3 |datw w0 HEHHA SOFA[OFALO| A A dyg0 8N X2, 242 18 12,000 1 12,000
235 3 | BEIEE MCHa? o & 2oF 2t H S E XIS, Clofn Ho|AHED 28, $YH & 10,000 1 10,000
236 3 [H4ZLIE CIX|€ A9l SNS & FHEL|E| ETEY dl S|H{E K|S, 0|2 Hho|AH|2] 12, g3 g2 10,000, 1 10,000
237 3 |2z EE OISR EE . C|XE 7HZL 2t #l S|HE K|S, Co| 1 Hlo|AH| 21 13, 3 82 10,000 1 10,000
238 3 O o CHRHX| ol : H2| & & 2t S E XIS, Clofn HHO|AMI2D O7, FE £ 10,000, 1 10,000
239 3 |Hete WEOF HE0 Als CHER} ALZ) = 2 E2H2 X|Z, X|35Z a8 13,000 1 13,000
240 3 [Hst Fele Mo O] A 7] LIEre| 2tHt2 X2, 90| &4 15,000 1 15,000
241 3 |ESEME 2 7HE ZH 150 Hpo| & 2o XS, oM 8 13,000 1 13,000
242 3 | X8 "X =¥ SUEEAMED 12,000 1 12,000
243 3 |efolo] §us 1: Lf S0l ZFdH! R 13,800 1 13,800
244 3 |Egstn =0/2 MAe HEI =X AbTHE| e sate xS, H7| &2 13, 190 82, 13,500 1 13,500
245 3 [EtojZ 3o XS 520 33t XA 370 A% X 14,000 1 14,000
246 3 [d5 Y Fota AES 9 11,000 1 11,000
247 3 |= WEo SR Gg=xiat 12,000 1 12,000
248 3 ["tEH|, WAE ALt Q=TS A 17,000 1 17,000
249 3 |27t MAS HHE AHO8 FHnS 12,000 1 12,000
250 3 |MEE X7l MEEQ 5HF MES07| 13,000 1 13,000
251 3 |=Z Mol=a 18,000 1 18,000
252 3 MET YT MHol=a OtCt +=X| x|, 02 15,000 1 15,000
253 3 |[MMH, BXI7H Hola? oty 13,000 1 13,000
254 3 |Re2ls of QIESXEFOIXIIL Ete HOPE AL [#8= ool 2748 2ol 22l 0=0h R et X 16,000 1 16,000
255 3 |aFstotE £=7E EE0R 7|Ct2 Op7|EF & XIS, 27tofnt CHtEAl J8 13,000 1 13,000
256 3 AR ofy? Edx 13,000 1 13,000
257 3 |[HEIFE7t= ofmy? Edx 13,000 1 13,000
258 3 |[M=ZE ol EEEN 13,000 1 13,000
259 3 |HEXIH ol E3A 13,000 1 13,000
260 3 [ZEndas= ofm? Edh 13,000 1 13,000
261 3 [L= Emstiof EER o3 &9 XIg M2F 223 1Y 12,000 1 12,000
262 3 |85 o HES uy N 13,900 1 13,900
263 3 |2 8E8sY £y 13,000 1 13,000
264 3 |92lo] & AFCL| stEsS MXE XS, ZojAad 38 13,000 1 13,000
265 3 [2F7F =CtHH o3 2l stEsS AE|E OHE X8, § 22| O&, ojg4 13,500 1 13,500
266 4 |om SEHIYI}F Bl DHS L X oldstairs(& E2H|0| %) Team. StoryG X|& 14,000 1 14,000
267 4 2397 okds=E ZAEA & X2, ZEYER 12,000 1 12,000
268 4 |REl sS4 URE S HMER & X3, S EYEH 12,000 1 12,000




=M | X |27 |MY ETHAL XAt £t} =80t H 1
269 4 2022 HE-THEMN =3BHLLE Me7H 2ol =sooks a0l =52 378,000 1 378,000
270 4 |Go! Go! §})g %Faé |:|-| :]_El_loH% FE|Y FH2AH XS Yeet M2t = 28, 22 2, 2K A 13’000 1 13,000
271 4 |O{Zlo] MHMXIE Q5t XHRIo| Al RIS ek e X g, ey 4 a8, K2 2 13,500 1 13,500
272 4 (9S4 Hutojo Q7|E FEHI] HAHF 5| A 2240| 0|4l X 9,500 1 9,500
273 4 :il'xapal':l— El:l":l'l'al':‘— 2 |_H o|_|AOH9|7:_|H IZY$0l= E 7|H2 9 2, 0|+ &, Ol28 BERE o 18, AZ U5 16,000 '| 16,000
274 4 |HetsE Bh HOjstm  [MoIF 300} X5, AHIL $X O, ot0lL 53 15,500 1 15,500
275 4 |H71Q), DS K| HH LI HAEAQZA HYR XIS, REY &, CHE7t0| AoX| L 12,000 1 12,000
276 FEEENEEEE ClEms Aot XS, 2RO &, AFKIY 7|2 13,000 1 13,000
277 4 |mm oper oot ge CHAtO2I0|  [ol= D2 18, oI §7, Opmbtal ALEA| 2 12,000 1 12,000
578 4 |mm s g7t o= CIAtO{2I0] [0l oM 18, HoY S, otEfLiy] Zolx| o &=+ 12,000 1 12,000
279 4 |#E8 apst =72 A CHALO{ZIO| |l a2 O3, MY g2, AFIHIOFA| ZO|EF7} 2= 12,000 1 12,000
280 4 |2 365 2| AA ZME XS 16,000 1 16,000
281 4 |EAS| Jof E7l =Fo| H|Y =X AQ3| XS, gotM I8 12,000 1 12,000
282 4 |2aEX & 8g 48 ot = 27| X g, dnE 1Y 12,000 1 12,000
283 4 |4S0| HE & CiEHZ Fotet =X o5 X2, X 18 12,000 1 12,000
284 4 |ZXtet H{ol| M His=Qt =5 Ftota} 3K ASE XS, ol I8 12,000 1 12,000
285 4 |21t 340 tHelel HIZo] QUEtT? = oI X&, d4 a8 12,000 1 12,000
286 4 |mELK|, =8 b Faf b 2o WS ErEstat = K| O3 X2, §X 28, AGY| & 12,000 1 12,000
587 4 |=atdojo) =3 S|4 3 O|2JQNOFO| M| S [2th# XIS, Ral 18, 01FR o A+, Edrdn) &%t 12,000 1 12,000
588 4 |zatdojo) =3 5 7Al 4 O|2JQNOFO| NS [2th XIS, Ral 18, 01FR o A+, EdHdn) &% 13,000 1 13,000
289 4 |Ssteojel =3t =7 | 5 O|2{AOLO| M- |2HI XIS, Ritsl 28, 0IER of g Edtan) % 13,000 1 13,000
290 4 |STEAM =& 1t5t My o Hpo| AW 2D XS, BIxz 08 14,800 1 14,800
291 4 |Z=Sstdg flst ae| nistd s A Hho|Z FEH. AT = Dz O8 12,000 1 12,000
292 4 |20 B8 4= s =4 I BFEI A O] 210 [2371 7 A8, = A00i o2 18, 587 82, ool =0l cieiop| 2+ 13,000 ” 13,000
293 4 |AcH HiCt S 2 Hal HEIRHE HE 2 A2 XIS, OFE[otA T2y 1Y, 0152 5 15,000 1 15,000
294 4 |2 SE 2 023 X2 x|, 24 Wajz| 12, 0132 52 15,000 1 15,000
505 2 2= 22l o2 ofe|H| X, 22H[0f-0t23 LY 13, 0|5 82 15,000 1 15,000
296 4 |dld[st A A 28 Of=z|Ql H 2 X| 3, Olzhg &4 24,000 1 24,000
297 4 |otz=gIzr =2 Hal of2| LIZ2t XIS, ofEjokA =2|Y 17, 0|5% 82 15,000, 1 15,000
298 4 AI_I 7|6|;|- q% A|—X|;| %ﬁiﬂ B2 X dxHt X|F, B0 2L =7| 28, M43 g2, XS A+ 20’000 1 20,000
299 4 7148t At 271 0tE AL 38 HE4 WAHExieasy 7|= X5, A2 4 13,000 1 13,000
300 4 71438t At 271 0fE AL & HE4 WAHExieasy 7|= X5, A2 4 13,000 1 13,000
301 4 |71E5t 2 Ystan 220 apst AR G| Y HEA Mgxieazjs 7|= X| g, Msrl &4 13,000 1 13,000
302 4 |7|¥stn nlestn 271 0tst AL R2] & HEA Mgxieazjs 7|= X2, M2l &4 13,000 1 13,000
303 4 |XtQl ChHF s et A5 HEA AE|2 EOM FEAE T H X2, 0|Z4E A5 13,000 1 13,000
304 4 |afsto] £ 0|CH ALO|CH 1 Aotzto|gl aopdasta §9E XS, d8E a8 14,000 1 14,000
305 4 |arsto| £5 4Fo[CH Ato|Ct 2 Agotzro|gl FatEateta go2d Xs, dxs a2 14,000 1 14,000
306 4 |arsto| £5 4fo[Ch Ato|Ct 3 Agotzidiol | I Eabdatshe Bl XS, Aot I8 14,000 1 14,000
307 4 |dfsto] £ o|CH AtO|CH4 Adotzigol | S Eabash AMA XS, A 8 14,000 1 14,000
308 4 |EXS mitM 1St M s A AfotZto|gl SIS BRI R X3 14,000 1 14,000
309 4 _7.:_% Il,_j_l|»k| J'_||>E>_'|I- gg . J'_||>E>_'|I- _/'\_A|. 2 ggof;f[-”[” SRt |G F Y H ISt ZHT YD H IS e X F 14’000 1 14,000
310 4 |4 H 7tRt M2olg HENN X2, HotE &4 18,000 1 18,000
311 4 [BuoME Sdte ZE58 HE = FEE 1| HEFLOE Heta X2, ol agl 17,800 1 17,800
312 4 |BEnoME Ssle 25+ NE He R 2| JEFL|OE ety X8 4 o 17,800 1 17,800
313 4 g9 A Mar 251 2 THEIAE] 2F B ASFEL 0 00|34 292 X2, olX|&7 && 18,000 1 18,000
314 4 |21 SEl OfQIFFERRl HEA NE L e HEF X3, OlEfS &A= 25,000 1 25,000
315 4 [Why? X[7o| XHY LIEE; M= X5, S2M a8, G4s g 12,800, 1 12,800
316 4 |Y==F AHER WFE Hoteh QICjEtA (o3 siEs Rl =Y E=al 18, Y8 8§, 08 A 17,000 1 17,000
317 4 |=7FHounp QXGESIQA  |AFIO| CIFIA| X2, THA 22, BAH 2t 13,800 1 13,800
318 4 ;_lf§|+g| > SIE 43§5|.7| _|C_>|_1_|- NHK 2tete] 28 MAE X5, QAEH dA7 08, ad &2 15,000 1 15,000
319 4 |apstel 2 2 o457 =Lt NHK 2ol 27 FIAT X8, AR 22 38, Had 82 15,000 1 15,000
320 4 |dpstol 2t 3 HHHY| oL NHK Z8r0] B MSE A8, RAE] AAH 18, HaE $2 15,000 1 15,000
321 4 |XE o NS =2 o[Od|etxy0o| 2183 X2, XM F4, ¥ A+ 15,800, 1 15,800
322 4 st Mo U&= CHEF AMS TH2 eS| SO | 2= 0IZ0 XIS, A 83, okt =NSIR AE, 274 Rfolm P 19,000 1 19,000
323 4 és._“a*DH jl_}.ii‘I- lérg |:|.| 2 x|:rlg|. EEF _7'<_|_|01 Q%IM. 25 18, 0|13 o 2, WelHE U=, U3 Q| 7|2, Esteoy |% 12,800 1 12,800
324 4 |=shtof ofst EFECY 3 Q1A FLIO|ZGAL (289 08 oiM= o 2, oiE o 7|2, seto) f% 12,800 1 12,800
325 4 |Soteoy urst Bt 4 23 FLIOJZ A} |BHS 28, oluid 2 3 2T+ B4, B 2 7l8, 2atan) &N 14,000 1 14,000
326 4 |E™ol= 9ff? XA HRUO|FEY XS 19,000 1 19,000
327 4 |atEtzo| LpH pNE=ED =53 9| x| 59,000 1 59,000
328 4 |20|E HiZ|of 2|= 225 dY AAES NG 223 W Y S 8 o8 B4 18,000 1 18,000
329 4 |FElY o EfA Mol=a oM oA EZAT| X|Z, 22 &4 22,000 1 22,000
330 4 |27 HE H2 FAHEE f ¢ o ER EE27472] A SHUiEY etold 23 XIS, T &2 10,500 1 10,500
331 4 |12loz BE R win} ERE 27k 2loj2t XIS, AW ARELE 18, 033 8, BT U 17,800 1 17,800
332 4 %(}1 El’%‘jl\“—% )lk_||j|al'_|- q% g{% _T|L|-7I<EF Al’ﬁ E|-?:}—’,<—I_| o.I Lige| E2FU XIS, ofoky A FA2|A o 1Y, AXIH 8, ol¥H Ax 14,000 1 14,000
333 4 |32, Yot B2 2F0F Axs) 23 2M X g, M7 28, 30 &2 13,800 1 13,800
334 4 |RHol XA~ JENH ot o| X 0| d3| X[ 2, WetLt & 15,000 1 15,000
335 4 (NUsl2 R EE S22 & stElgto|= [etel= 22l xIg, o2 AzHEA|X 18, FHH &2 22,000 1 22,000
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336 5 |22 210] 2ot TZJ0|0f7| [olWA FtAm-ET X, g ottt 2, AFY T 15,000 1 15,000
337 5 |[0|EE =H3H 17| 2A0ISB00KSAR0IES ) | FR| A E X RN XIS, =2t 20|23 17, 1SY 5 14,000 1 14,000
338 HEEEERENEES 210]=800Ks( A0l E52) ZEA XS, 2|ZA a2 14,000 1 14,000
339 5 102 2o 2l &7te 017] a2 =3&0| 0| M3 X|& 9,500 1 9,500
340 5 |OtO| 2{E Lto| & HHRER A2 THE7| 2350 |8 X|& 9,500 1 9,500
341 5 |oto] 3B EA HmE|S C|XH0|H =50| g3 28 9,500 1 9,500
342 5 |E2E2 YU4e aF mopo| A X2 X5, 0|32 18, o|FE L= 13,000 1 13,000
343 5 |2 He AL A LY 14 of A4 HA 2E2E X3, MX|3] &4 18,000 1 18,000
344 5 [ofilez &g sk m E2 Teyo| XS, x| 28, s &2 19,500 1 19,500
345 5 [22]= ofiloz sHES Holg! EETE Ofo|2 2WE X|g, Y =20t 18, 80|t 82 19,500 1 19,500
346 5 [Zolze x| a7t &M X|HQ =0|g 2tO[AF ARO[E AFE X[ g, 2|0t & 18, AH3 §2 13,000 1 13,000
347 5 |AMEH AP, ZEYE E% Op CHEONS X|ER M XIS, APXHSF 7|2 13,000 1 13,000
348 5 |2 FdE CHE A0|x XS, == 18 12,000 1 12,000
349 5 [ npst £7F . AME AR CHAto{2lo]  [olE D22 12, Holg §2, AP| Ce of 4% 12,000 1 12,000
350 5 |EEE IS 22 LY 2T CHAFO{2I0|  [ol= Dl O3, YoIY £, OFFtAlet O |2t of 24 12,000 1 12,000
351 5 |EE et & Ao FAL Chatoj2lo] ol oz J8, ®old g3, izt obzlat 2 2] 12,000 1 12,000
352 5 |oj2I0|= 98t A 2 £ Fatstmet  [zojy Y2AHM2 HILE XIS, Adi2let &Y 13,000 1 13,000
353 5 |22l & A% A 1 O|2jAOLO| M-S | 247! #9 X8, 7be 27012 38, HaXl 82, Uzt =22 ol 2% 12,000 1 12,000
354 5 |O{ZI0] o= ATl 70| E SHEEMED Y= 84 X5, EHE O8 3520 g 12,000 1 12,000
355 5 |=2te 714 2AED| Aol 2N x|, StEYA 2R 27, M43 £ 20,000 1 20,000
356 5 |XIFO|M 7}E 2 YR= H|E A & M2 XS, & Aoj2a a8, gge &2 18,000 1 18,000
357 5 [RE7F ERE ER 0|0F7] 2ES S|t W ME XS, el B2~ 1F, HXE F 12,000 1 12,000
358 5 |DfUOHY 2z ez AldOtEA  [2zZasdns Rg, 449 8, 25 7txe o &4 13,500 1 13,500
359 5 [25E Qlst MFE 2+ 0[opY| MEH7|= HMEZ XS 208 18 13,000 1 13,000
360 5 [EtHESE2 F2 Tt E|7| {8t 507K O] M MEHF|= 0|40t X|g, T 1&gl 13,000 1 13,000
361 5 (ot 3D wHE by otge HolHlE WOl XL, oS 8, HER U4 33,000 1 33,000
362 5 382 M4E 0EA B USSR O{2IO|LI 2282} 2zl X5, gelg a8 13,000 1 13,000
363 5 (W EAZEEIEOR LEE;S OlRl 20| X| 8, 22 =4 12,000 1 12,000
364 5 |2 X712 20 f2/stu 02|+ 201X M X|& 14,000 1 14,000
365 5 |FAPIERIL LA FE O B L B B4 4| =L|O|ZUYAF |ROIEH B8 XIS, XA 2, CHHASK £ o A 13,800 1 13,800
366 5 |CJHME & =28l XAl HIEz 9 X|& 27,000 1 27,000
367 5 |D0|E ot H | =7}0| X|& 15,000 1 15,000
368 5 127t Z2t7HH of A gk Hol=a FZREILE AF20F-fr2f0lH XIg, FEIL D28 28, 430 82 15,000 1 15,000
369 5 [d3= X7 227t 72 ok Hol=a E 7{H| X, otHa|L} 2l2|ojA O, Aels g2 13,000 1 13,000
370 5 [EOEXM YU L 2 2L 20 2ol A H xHol=2 Lotoju| ofOjELZ |8, SA S 1B, wH0| g2, $XIEF D0[X|2 L4 15,000 1 15,000
371 5 |Z CEXe ) MYE W8 =2 0 HOIX e A H Molm Lotold) oOjERE RIS, EAEF 1%, 0] §2, FRIE D02 L4 15,000 1 15,000
372 5 |MAL AlE, EaH2 YH0| 71538 2 7|ct2 SH £IHE N E, B AE2LS 2Y, BRH §3, U o= FH 15,000 1 15,000
373 5 |yaet X7t oMKl HI Y e (D) Msild X|g, 0| a8l 13,000 1 13,000
374 5 |AZo| UPHLE ZIME ARAFD| 2 X2 15,000 1 15,000
375 5 |Dofo| Sof wia} EHO|AEEA 0|3 x| 24,000 1 24,000
376 5 |O{ZI0|E ot HESH MA oSt ofH EES FHEM X, 259 2 15,000 1 15,000
377 5 |ZFOo| Aot oA IR A Lo X g, et a8 12,900 1 12,900
378 5 [gHEE XI7|= XI& Jtset i M 0|op7| oA FRel X5, Brds a8 12,000 1 12,000
379 5 | 2 E=tAEolof EY szl EE XS, O[A= &4 11,000 1 11,000
380 5 |t B0 Hole? =Y 249 XS, Wiz J8 et g 13,000 1 13,000
381 5 |As0l 5% oj2y AXLI0S Yot £5 B3 BE 52 2|3 A2[AE|L SHE & XS, HEj& Q &4 16,000 1 16,000
382 6 [emzeFze 2223 Noas 301y 22l § Fu7l | 420|C| 0] 2EHE ZEE XS 15,000 1 15,000
383 6 |PHEH Cixtol & EEY 2t Aol PR Lol = 20X X8, 20z 24 24,000 1 24,000
384 6 |0/ 7t ZOIF 7| Z3BP 22| n4 o|op7| X|Z 11,500, 1 11,500
385 6 |EHREHR S SO[F 7| 2HAE CIFtSHA| LIL X[, Fo|2 &2 11,000 1 11,000
386 6 |E5F 2 EHE JoIF7 dHAS OJA[HFA| LR F X[ S, FO|2 &4 11,800 1 11,800
387 6 [M&OlM 71 o Z0|F7 (M LB A7 20)oH7| XS, o &4 12,800, 1 12,800
388 6 [ZRIE {8y E2Y - F2H A2 22 ETIARB LS EtT XS 14,000 2 28,000
389 6 =7t CiE JoH|&7| . Ha| Za(7| 20|5A IEY0| X2, =T L=+ 12,800 1 12,800
390 6 |Hol2 55 3017 O] C|Of &H| O|A[HIA| L@ 3 X| &, O[5t &2 14,800 1 14,800
391 6 |MEX $u st HoE He 25 30187 =2 SXNRE BYZX XS, 42 4 13,800 1 13,800
392 6 |ZOX| 0|7 gotsA A== HO|C[o XS 17,800, 1 17,800
393 6 |==x= 0|7 AZENF AEENF HYR XS, =3 A= 12,800 1 12,800
394 6 [dlZOtXM ol Ho|m E20|E 4 : ZE|0 Z=24 U 2O M O|}E XS 11,500 1 11,500
395 6 (MM MY MU= So|H7| Z=2ei8l U 2O M O|}E XS 14,000 1 14,000
396 6 |KTA EiE= EMEO| ofL{s AT I Y& K= 29,000 1 29,000
397 6 |& HEAZT O/L7t ZOo|F7| QHX| O[BOOKS & XS 16,500 1 16,500
398 6 |E8 3017 25t=0|C|9f 23tz Of 0 X|& 7,000 1 7,000
399 6 |Z=o O)&At LES Ojo| 2 HE |2, AO|E oA 18, ¥l 32 50,000 1 50,000
400 6 |B1A JolF7| 2 Zo|Ltet MEM.olelg XS 15,000 1 15,000
401 6 |%X8H oAtoto] FO|F7| EIME O|A[Ztet Of2[2 K|S, dd &4 13,500 1 13,500
402 6 |4 stotC| Oj&At HIholHpE RtAG XS, Oofslid J8, =dF A= 12,000 1 12,000
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403 6 |MMd, &ot =Fo|7t foa? AHotAdg| Hid= X2, dnd 18 12,000 1 12,000
404 6 [LtBto] #oj2 7HElH O2|7| goigotolgotanicion [ OpR 0| 01|I1|*M9| s d3d g4 11,000 1 11,000
405 6 AR % B0/ oA SXI oks 2ad XS 12,000 1 12,000
406 7 |=of %17| MIIZF ZCH 1 oldstairs(2 EAE| 0 X) Mr. Sun O{tA 14 X|& 12,000 1 12,000
407 7 |BOf 47| MA 7t E|CH 2 oldstairs(2 =201 %) Mr. Sun O{& A XS 13,000 1 13,000
408 7 M“=0| 2149 Fof Y =[G} =50| e X2, ded O848y d= 9,500 1 9,500
409 7 |54 250 AT FEH  HAL =3&0| Otde 2, 4878 18, dNE &= 9,500 1 9,500
410 7 |RHasrer gof 7] B ME ofo] FOf 7| & ME ofo] 220] B2 A2 XIS, Kiwa blanz 244 9,500 1 9,500
411 7 |KBS 22| HZE7| 7|E XY S M A KBS ?2|Z AZ7| ATl 42 23,000 1 23,000
412 7 [ALt= Of2lo] Y&0 1 Cheral CiLEZE 2A|0] Q| X|& 16,000 1 16,000
413 7 |AlLt= ofZlo] Y4=0f 2 CHer gl CiLEZE @A|0] 9 X|& 16,000 1 16,000
414 7 |=stdol 2% fle felE 1 CHAUOZI0]  [#2= A5, /3lM 18, SotamU 2= Sotdty 3% 13,000 1 13,000
415 7 |estedil = fle 22T 2 CHAtojZIo]  [#2= XIS, 73l =, St AN 13,000 1 13,000
416 7 |ectdil 2 fle f2le 3 CiHAtojglo]  [#2= XIS, 73l 2 =, St A% 13,000 1 13,000
417 7 |=stdol 2% e 2224 CHAtOJ2I0]  [ete= XIS, R4 18, sehamL] 25 S 4% 13,000 1 13,000
418 7 |17H8 22 oglo] =01 SYELA(EYED) dol= XS 17,500 1 17,500
419 7 [t 22 ofElo| 530 2 SAFA(SYED) Aols XS 17,500 1 17,500
420 7 [t 22 ool 530 3 SYELA(EYED) Aols XS 17,500 1 17,500
421 7 |7 #|2 O8I0l 530 4 SEEA(ESYED) Aol XS 17,500 1 17,500
422 7 |365¢ ot o S K| 02 THo| [Frol7tule=HEoi2io) W2t~ 20 XI5, 2L ZAMD O, 2% &2 15,800 1 15,800
423 7 [O|2E|Z DAHIOf =L ST AS 2§ 28 12,000 1 12,000
424 7 |O|ZE|E MY #E0f L5 ST A2 2§ 28 12,000 1 12,000
425 7 |HIEF0] Eoy H|E}BIS 2o XS, FENY Z 13,500 1 13,500
426 7 |ESEHE EOo{MT| B Ho LYY MEZABHBSTRUR AL ZHAMA2E XS 9,000 1 9,000
427 7 |EEEE IEY o do EW7 MEEMERESTRYR 4z Xs, dutd 18 12,000 1 12,000
428 7 |83t ojzlo] 2z o] AH DS HEY o KIS, SIRIY 12, AL SNH HRTEHEAYS U5 12,000 1 12,000
429 I EE arte(OFZE|) [Atet MUTfA XS, = Satd 12, A3 32| 16,000 1 16,000
430 8 |HA2:Foz 7t 2 arte(Ot2H|) |Atet HLUTHA |2, & %Eml a3, UMs g2 16,000 1 16,000
431 8 s M=d HYLF Hd2 X2, gelof a8 13,500 1 13,500
432 8 Aol ojdl4 R HO|A BtLh HYLF A X8, X A8 11,500 1 11,500
433 8 |2Or= OjoizH PENESS AZ=0f XS, o)z 1 12,000 1 12,000
434 8 (282 Eojz=L= 0|3l 1 HE o|LtE XI5, Mg J8 12,000 1 12,000
435 8 |A~fE E0F=0lzl 2 HAE o|Ltd XIQ =g 18 12,000 1 12,000
436 8 |Aa%E E9F= 0/= 3 4E oLt 1|2, =3 18 12,000 1 12,000
437 8 [A§S S0 0|34 4 AE ol x|2, =3 18 12,000 1 12,000
438 8 |Z AU MZ oALE Tt MZt & 23 XY (L EHEEMB HEYL x|%, Ziojz a2l 13,000 1 13,000
439 8 (ol A M = 0l 2= XS M 2 12,000 1 12,000
440 8 |AEe RRI(T = Bl o= X2, X3 a8 13,000 1 13,000
441 8 |H= 2% ofH|Lt T M 204 X3, detf 28 13,000 1 13,000
442 8 |81 S ™ FtHe 2 Le0l=800Ks(I0L =522 Fed X5 Ao ad 13,000 1 13,000
443 8 |eotd EH 27 1 JglofE OfAA ol & X5, X2 &4 12,000 1 12,000
444 8 |eotd E5H 27 2 JglofE OpAA ol & X5, X2 &4 12,000 1 12,000
445 8 2= =X AT KIH|E 1 JZIZE ot Al XIS, of2|Qt= ®ElQ 27, AYM &2 13,000 1 13,000
446 8 [5F B Ye|XHE 2 JZIoHE OfL| A| X2, of2|ot= da|Q O3, ZAYA 13,000 1 13,000
447 8 |2 EtX AZ|KIH|E 3 J2I0E ot A XIS, of2|Qt= ®2lQ 13, AYM & 13,000 1 13,000
448 8 [RIW XIF &7 Jz2IofE O|#3| x| 2, stotE & 12,500, 1 12,500
449 8 |O|AtSE TP} Z4A MMEE 13 AR S| 2A|0r 20|32 XS xrxr:LE' 2™z 22U 12,000 1 12,000
450 8 |0jMI MSES mYe L2 2| g5t x| 3, HjgtLt a8 12,000 1 12,000
451 8 [7I2HEX| F2 HOf S0 =x 223 Xg, Xl 18 12,000 1 12,000
452 8 |¥dE Hote LY S0l =5 AM2g XS x5 28 12,000 1 12,000
453 8 |E7|E ttEE 2ol H e AFH XS, 207 I8 10,000, 1 10,000
454 8 |= ot ® =38 it X8, e Oy 12,000 1 12,000
455 8 |SES SElfl WEZFot 8 B =32 A™X X, sHF 28 12,000 1 12,000
456 8 |0l &%t oto|AE ZHA| LAFELY X8 X, ojedd AE 13,000 1 13,000
457 8 |n¥o| ot EFH|OfZI0] A2 XS, ores a8 11,000 1 11,000
458 8 |t EFEE7} ofL|of EHH|OfZ10] M2 XS, ot a8 12,000 1 12,000
459 8 |0 gt&= usAFLY 42t X2, oHAM 28 11,500, 1 11,500
460 8 [Mut X|5|2o| WHEH N NEE ) O|OFX}7| tofe X[ & 15,000 1 15,000
461 8 |FHo| ot CHeImoto|(Ehele)| =M G. ZEIE X8, 2U|BIOFA| S| 2 0kA 15,000 1 15,000
462 I EEEE EOIZ0{2I0| uhsM 9 XS, SEfF 18 12,000 1 12,000
463 8 |l&Fo| 2ol 2t Otz|ot =t X5, ¥ a8, 249 82 13,800 1 13,800
464 8 |Lh=stw Jt7] 2h 2| ENHE dste X2, &3 18 12,000 1 12,000
465 8 |E0t & &7tz 2 ENAHE dE5d X5, olgdw a8 12,000 1 12,000
466 8 |EA X a8 Op 2 H| B E XS, EEF O8 12,000 1 12,000
467 8 [Ore] A=A 0r20|2 &Fd g, X 1Y 12,000 1 12,000
468 8 [dtol Za xf O =4 29 X, Azxls O3 12,000 1 12,000
469 8 [19514, G| & S0l HAEH| 488 XS, Zed 18 12,000 1 12,000




=M =57 |MY ETHAL XAt F e

470 8 |OIRAL O St= HA S =S HX| G AL A X2, APz 08 12,000 1 12,000
471 8 |==0|7t 7|CHEIL|Ct =54 28 Xg, g4 18 10,000 1 10,000
472 8 |=3o 2= 2stEl)| ot X2, Lt A& 11,500 1 11,500
473 8 |OtO0|Z ZOIX| QAEZZIERA 23tz o[MZF ﬂa, Holst 23 12,000 1 12,000
474 8 |25 H HiZ! HlZ =334 X|etx 3, dget 28 10,000 1 10,000
475 8 |HE e d Mot &Y =54 del2| XS, dagt 28 10,000 1 10,000
476 8 |2Z ofLm £x ERTEAE XtGlot x|, stx|M 12l 10,000 1 10,000
477 8 |7|23t mo okt q O|2fAOtO| M|-& [sl=Alot 2l0|2 X|g, CiuiZt ofo] 28, ALE &2 12,000 1 12,000
478 8 7|53 2 BHopY 2 O|2f A OFO| M-S [61=AIDH 20|12 XIS, tiLt7t ofo] 28, AL+ £ 12,000 1 12,000
479 8 |7|98 2o shokdt 3 0|22 oto| M| & [sIZAlot 20[= XIS, CiLt5t ofo] 28, ALHE &2 12,000 1 12,000
480 8 |7|23t @ Shokdt 4 O|2fAOtO| M|-& [sl=Alot 2l0|2 X| g, CiiZt ofo] 28, ALtE &2 12,000 1 12,000
481 8 |=3tumy 8 O|2{QNO[O| NS |S3tenh 2, gut3 18, Hie 2, 32T a4+ 13,500 1 13,500
482 8 |=steol 9 O)2jAOLO| M-S | 2ot ol XI5, fitel 8, e 2 sotanY 2+ 13,500 1 13,500
483 8 |=ctdil 2dia O)2{AOLO| M- |FEe 28, Wte 2, Setmy g, Setdm A% 13,500 1 13,500
484 8 |ofE Ho|M HotE7| Hi2toloto| & Z0/of x|, o|O|Zl & 12,000 1 12,000
485 8 |EE[9A 15 gr2o)zy g2 o|o|X| X|g, ZZlot &4 12,000 1 12,000
486 8 |Ez2l9AM 16 gr20) 2y g2 o|0|X| 7<|° d%iot g4 12,000 1 12,000
487 8 |<fta HA H| 2 EHC| Mol @AE XS HES &4 9,500 1 9,500
488 8 |LHY= 2y EES 0¥ X, Aoty 1Y 11,500, 1 11,500
489 8 |0ty 7IEE #otet EES Z Qg X5, dulE a8 12,000 1 12,000
490 8 [AE MY EES O|#3| X2, gt==%l 08 10,000 1 10,000
491 8 |oHL|ZH EES 24 X2 A9 28 12,000 1 12,000
492 8 |WE o 3 Hof| ZA=0| = oAt XS, 207 I8 12,000 1 12,000
493 8 |2 d Ao = F=4 Xg, 2de 2y 12,000 1 12,000
494 8 |SCh |G 533 to mjE| Xg, 2UF o208, Foj2 £ 13,000 1 13,000
495 8 [dIEE ofHi KA 233 O|X|8)| XIS, Zas 18 12,000 1 12,000
496 8 |AMEHE BELTL =233 HexE x|, olojd a2l 12,000 1 12,000
497 8 [ZXF7| 2rof oft H| 24 29 X|g, 0|3 1&l 10,000 1 10,000
498 8 |do|o| AYEl 77| 2 HEA Had Xg g8+ 28 10,000 1 10,000
499 8 |dYo|o| ARl £=&7] 3 HEA Had Xg Zg+ 18 10,000 1 10,000
500 8 |deto|o| AYT =TT 4 HE4 Had X5 g8+ 38 10,000 1 10,000
501 8 |dutojo| ATl 77| 5 HE4 Hed Xs 28 28 10,000 1 10,000
502 8 |=HQIt ST 4: /7|9 AL HEA 23t X2, g8t 1Y 10,000 1 10,000
503 8 |=HQIZt RS 5: TNE It= HEA A2t X2, g8t 0 10,000, 1 10,000
504 8 |AtEtel Sl HiY HE4 O|23| X|Z, 0|53t I8 10,000 1 10,000
505 8 |Lh 2 AR AMNAE 220 XS, dME 38 13,000 1 13,000
506 8 | L2 AAE 250| X|Z 14,500, 1 14,500
507 8 | RHFRp xHgf AAE orojzt 9| X2, 7 EIX| O 12,000 1 12,000
508 8 |28 ©x| Atst AT XS, A4+ J8 12,000 1 12,000
509 8 |BIAE RtA SEl A2 L7] £8 x|, 284 &4 13,000 1 13,000
510 8 |HQIX| OtHX| MA5H= 17| E{ A AduS X2, dad 1y 10,000, 1 10,000
511 8 [CtE&S LIZt&LUCH AELE M2 X g, s/Ho| a8 12,000 1 12,000
512 8 |HEZE E0F= ET 2QLE ¢ XS, 0 I8 ZYs g4 15,000 1 15,000
513 8 |=&o0| st 1 K3z Z=z0| X3, 7":‘01 a2l 12,500 1 12,500
514 8 |EFo0l &M 2 325 420 X3, 459 a8 12,500 1 12,500
515 8 |HLt= JZXIt AlZSFL 0] 2ol X2, o|&3| a8 11,000 1 11,000
516 8 |Z ofFojL|Qf HIZo| Al x| dX|d XS, olshE I8 16,000 1 16,000
517 8 |HE™I RYES A|EFSHL|CH olz& AMX|Y XS, 0|FAM Ol 12,000 1 12,000
518 8 |22l oK £ X|7E FAHLCH QEPTIS A |Oftolor Aok OFEAY XIS, HBER HIA B, 7 OPICH &2 13,000 1 13,000
519 8 [OtS0| oKX= 22| 8, Mat M Oj ZIO|LtR 42t O|&m A, gsig 18 12,800 1 12,800
520 8 |oj2f Al Ly il ol 7| = (M&Kids 25 xS, F=a4 18 10,000 1 10,000
521 8 |AMofef stel 2 9| (M&Kids 23 XS, wo| 13 10,000 1 10,000
522 8 [AEh= EE OfAEH I | =(M&Kid Zotet X g, Fes 18 10,000 1 10,000
523 8 |ZAM Mol A M ALY FE ol H 7|£(M&Kud Zotet X g, 3t&ol a8 10,000 1 10,000
524 8 |TAM Mo A Hmf AL . S4 9o T 7| =(M&Kids Zotgt X| g, 350l O 10,000 1 10,000
525 8 |RFE ™ 7| =(M&Kids ko Xl X|g, 28tA 1g 11,000 1 11,000
526 8 |Etat 20| M ol2CERE 7| =(M&Kids AAHG XS, Ho| O3 10,000 1 10,000
527 8 |ZI7t 1202232 FCt Hl|d X g, 0|52 OE 11,000 1 11,000
528 8 |7 OpHet Ootgo| 75 fesn 2 X|g, 5+ J& 12,000 1 12,000
529 8 |29ME|DIH SEIFEL 0] Ol & d XIS, MM EHE) I8 10,000 1 10,000
530 8 |[TEECHENY QA=ESIA |0 A XS, F2|ut 23 28, ZMAY 8 14,500 1 14,500
531 8 & &0 =EA OILF%'; XZ, os 18 12,000 1 12,000
532 8 [& W 74A 4 Q=ESIA [slZAl0F 0|2 K|, AL 0|3 Y, 0|2 &2 13,000 1 13,000
533 8 [&l H A5 QEESIR2A  |3I2AI0r 0|2 K|S, AT 0|z 18, 0|~ &2 13,000 1 13,000
534 8 Y2 ma|X| O|X|= AR X2, 2 2 13,000 1 13,000
535 8 |°tN : St =5 &I O|X|= M2ZE Xg a24a I8 12,500 1 12,500
536 8 |HE=E Uy A=F0{Z0| FO0/" g, Moixf 28 12,000 1 12,000
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537 8 |8 ALCH QX5 0{2l0| 23| X3, =5 2 11,500 1 11,500
538 8 [HlH +EH QX5 0{2l0| G K|E, 018 O 12,000 1 12,000
539 8 |AtO] HEO| Q=5 0{2l0| A0 X3, ¥s0 38 12,000 1 12,000
540 8 |TtAE|7tetg Fotet QX5 0{2l0| 440l X|2, o|Fg 1Y 11,200 1 11,200
541 8 |& EWQt M UHE QX5 0{2l0| S0 X2, 43 18 11,200 1 11,200
542 8 [d& gle 7| gA QX F0{zl0| SUH XS, 89 18 12,000 1 12,000
543 8 |Lto| =zl 32|H A0S 0|5 XS 13,000 1 13,000
544 8 |tHEl X+ 28 (2l X5, 522 28 12,000 1 12,000
545 8 [ZHo] A& AE|A Z2M0| 20| 2’83 X| &, dojs 23 10,000 1 10,000
546 8 [B2 ¥e BHEE Z2M0j2l0| g X, X2 18 11,000 1 11,000
547 8 | 52 I+ £ Z280{zl0| TG K|, g O 11,000 1 11,000
548 8 |=0|F O/ Z28M0{2I0| B El XS, X F I8 11,000 1 11,000
549 8 |25 HHF} Z2M0| 20| F01E X, 2 28 9,500 1 9,500
550 8 |FX EHEO|Jf LIEHRCH Z2M0j2l0| g3 X5, olgdw 28 10,000 1 10,000
551 8 |52l 52 Z2M0{2I0| 224 X5, =0 28 10,000 1 10,000
552 8 |877t Ead Z280{2l0| ZHol X5, {s0 328 10,000 1 10,000
553 8 |22l MES AL Z2M0jgl0| ALY XS, ZEfY 28 10,000 1 10,000
554 8 [R= &&= 4NH| Z2M0jglo| 23] X5, dgot a8 9,500 1 9,500
555 8 |YEZE COiEH Z2M0{2I0| Ha xS A& 1Y 9,500 1 9,500
556 8 |EEQ F1 7122 w4y Z280{2l0| =54 g, A5y 1Y 10,000 1 10,000
557 8 |IfA IjA EfE Z2M0{zlo] dotd X2, 2Xg 28 10,000 1 10,000
558 8 [7I& 7HA FLIOHGA L7 LMF| XS, A &4 13,000 1 13,000
559 8 | HCHE AEF &7 FL | B AL x25 X5, 429 38 12,000 1 12,000
560 8 |2l™E ol M4t 50| FLO LA ®Z3 XS 12,800 1 12,800
561 8 [ALO| A= FLOUIZAL O|£H X2, Z&F 18 11,500 1 11,500
562 8 [HR &2 UtE, =30 7Ict FLOAZAL O|2Xf X[S, Al2IxY & 13,000 1 13,000
563 8 [30ZZ0|E | 9= X8, 20|z 18 10,800 1 10,800
564 8 |1Y0| siEA AE 3 | Sod X, dM35 2y 11,000 1 11,000
565 8 |DYO| SHEA A 4 | =09 X, 43 2 11,000 1 11,000
566 8 |10t OJALRE AtLER FX| | 40 220 X|Z, o|X| &4 13,000 1 13,000
567 8 |Lh= 3%td 28t 79 oy | 4ot X| 2, O|F3 I 9,000 1 9,000
568 8 |LHE &t | | QIX| XS 13,000 1 13,000
569 8 |[WH 7|22 0fE0|of | #HAoF X| 8, 26 I8 10,800, 1 10,800
570 8 | B2 XE | HiX[ Y X2, BHeF T8 9,000 1 9,000
571 8 |LH7t GkoF 2tHO|2tH | #7189 X5, g2g a8 10,800 1 10,800
572 8 |Ctoljdio| & | 48 XS 10,800, 1 10,800
573 8 |2™o|7t =2l oy | |43 X2, ZtoiE7tol) a& 10,800 1 10,800
574 8 [EmH 7| | Z7E XS g2 J8 10,800, 1 10,800
575 8 |THCH HYEE MME | gojg X2, 88 I8 10,000, 1 10,000
576 8 Tt o2 53t 5= A | AEd X, o2 a8 12,000, 1 12,000
577 8 |R2l s BX ZA | O|F% X|I& 13,000 1 13,000
578 8 |%2l 8= =0 Dt} | SA3 X, 447 28 10,800, 1 10,800
579 8 |¥F 839 MY | o|¥5 XS, oo] a8 10,800 1 10,800
580 8 |OJAOIE Stmet X{Fo| HAE | F0|A MH X5, d2M 4, 454 a8 10,800 1 10,800
581 8 |9EEY o 11 H| =3d X g, BEd 0 12,000 1 12,000
582 8 |MEEY o me|2 H| =)E X g, BEd O 12,000 1 12,000
583 8 |=T&0| =1 HCt | SYN XS 884 a8 10,800, 1 10,800
Y 3 | LA MErA MR LD 2% X|e, 0| 13 12,000 1 12,000
585 8 |[Wi RCHZ FTHE7| MSE Hol=a 420] XS, Lol g 10,000 1 10,000
586 8 |ZS0IE=H Hol=a dEd X F, slgt 28 11,000 1 11,000
587 8 |OtE & sict MHol=a Aot XS, 838 18 10,000 1 10,000
588 8 |SICtet M =7tA MHol=a Aot XS, 838 18 10,000, 1 10,000
589 8 | oo HojolHrE =208 X g, 412 18 12,000 1 12,000
590 8 (MM Aojsta L= EOotst= A Hojgoto| (ol Zto|C|of) [Ha| Rt A Beato] X5, 2led 2 Yot 18, 43 & 11,000 1 11,000
591 8 |ZatEet &3¢ 3852 Aol XS, BrHFE T8 12,000 1 12,000
592 8 |l ®Eo| SLX|atu? 3852 Hos XS, MG T8 9,000 1 9,000
593 8 [ot & &= ALICH ZIgHE g2 Xg 24 23 12,000 1 12,000
594 8 |0l & =97t LHERIC ZIHHWE SEg X2, oks R 18 12,000 1 12,000
595 8 |HAHE Hiojl3{A I E Z[¥0| X|5, ojo= a8 12,000 1 12,000
596 8 |=fx|o B EER EAFLHE XS, A2 sjojA 7, ATY A 12,000 1 12,000
597 8 |21Y AlY OfAH oHfs EES AXE XS, gk 1Y 12,000 1 12,000
598 8 |[2=X| o] alof EES dlaa 2HA 20F XIS, Z2|Q A Mzh: 13, 4% 82 12,000 1 12,000
599 8 |17 shs0l| A0 22 ot FESFLO |20 XS dAs] J8, FIESARlal 2 &5 10,000 1 10,000
600 IEEEE Z2a=1|0] |# 2y Xg, ciuPet B2tk O, A58 g2 11,000 1 11,000
601 8 |Eo|o #FCiy EESFL (St XS, ZUH O3 B=ESAHAY 22 25 10,000 1 10,000
602 8 [SEMEZ 8= oto|= EESFLY |BUS XS, 88 I8 U=ESMlal 22 & 10,000 1 10,000
603 8 |2Alo| iz} BAlo| Lz} mEax|0 2712 XS 4% 1Y, AIESAR LN 2 A 10,000 1 10,000
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604 3 | A A BAL ZEELZL|0] [2F¥ XS 80 18, HRESAR LN 2Y A% 10,000 1 10,000
605 8 |2=% JWNH7|= Haaof| 2ot FESFLO (A9 XS, B8t 13, WIESMB 29 A5 10,000 1 10,000
606 8 |[SEZ ojo] M2 B ZELZ1|0 [49F A, dorY 18, IRESAR LY g4 12,000 1 12,000
607 8 |o|X Ha2Ho| FHCH FEEFLIO |[M2B XS, Ml I8 BRESAH UYL 22 2 10,000 1 10,000
608 8 [ZEXSLIZY M ZD2a=L|0 [2EF XL, 0/gY 18, RASA Y 2 4% 11,000 1 11,000
609 8 |FE 0j sisd, 1 stE2 goteh FEEZFLIO (#3835 XS, oS I8, B=ESAuY 29 2 10,000 1 10,000
610 8 |LiTt Est= A 8l EY 0|50l x| &, By 18 12,000 1 12,000
611 8 |1gl Ag St ETHAL O|F3| X|& 12,000 1 12,000
612 8 |2 % 02 E&0| SIS EAL 2y X8, 4%0 2y 12,000 1 12,000
613 8 7123 2AE stEsS ol o X2, 40 a8 13,000 1 13,000
614 8 |Fl&= & =St oy StE& AZ% XS, ZME e 18, H#2E X &= 12,000 1 12,000
615 8 [2|2CHY E YA staal BtAS| X8, H2 12 12,000 1 12,000
616 8 ol Al FF sheEofglo|32E) (X' NN 2 X8, 250 18, oHot 82 15,000 1 15,000
617 8 [OtRE REE ZAMA 2HMA AR 2 BHAD X|ot X|g, 434 O 10,000 1 10,000
618 8 |?2l EO/Ho SN = S QLR L Xg, oter Oy 9,500 1 9,500
619 8 |zt oo, & i S8 XS, 0|2 O 12,000 1 12,000
620 8 |0fE0} 20j2h AR} o1 =L 0] SME XS, 5eE 18 12,000 1 12,000
621 8 |2FE Fo| H2| F7| M HAFEL| 0] d0j= X2, &/el 28 13,000 1 13,000
622 8 |AE™X 1|E FHojzlo| 07| 1 XS, SHAl J8 13,000 1 13,000
623 9 |BHREIN ™ & MAEst Ztn(ZtnEgh AAHY NG XS, 288 1Y 14,000 1 14,000
624 9 |Who? Special 8}5H.0|5tE CHALO{2I0|  [PHE%2 X8, o5 8 18, Z7|xEAIHagHTe 2+ 12,800 1 12,800
625 9 [Who? & HO|HE A QlA CHAOJZI0|  [82 X8 0182 33, IZSAHAIATE) A+ S8 =4 12,800 1 12,800
626 9 |Z=ME 0|2 Liztet {EA X|WLte? CHA =2 Sid X8, 23¢ 1Y 13,000 1 13,000
627 9 [HUIMo| MAAICHEHE 10 EHE0L0| MOIN AER g, da Y O, AEE U= 12,000 1 12,000
628 9 |HBIMO| MAACHES 11 CHE0}o| HUMZAYS XS, g O8, AEE A 12,000 1 12,000
629 9 |HBIMO| MAALCHZH 12 ChEoto| HUM AP S XS, g O8, AEE A= 12,000 1 12,000
630 9 |HEIMO| MAACHES 9 EHE0L0| MM AER X, g O, UEs U 12,000 1 12,000
631 9 |OFFAl REXA CEZ® 28 ozlel Xg, Mz fevoe mezlo 28, 84 &2 13,000 1 13,000
632 9 |(Of2|e E2|Lt S8 ot0| & Az|Xtef & 2{A| XIS, H2AF OF2E|H[~ O3], 0|5 &2 11,000 1 11,000
633 9 [O|EA WA OoXt= o\ gy AME X Z, Loy 18 12,000 1 12,000
634 9 |UA A=t AE2| 9A 03018 =22 X&, X8 1Y 13,500 1 13,500
635 9 |BEA H|o|Q ZIX=B 9| Mo|E T3t 6™ 233 oyl 2H] X|&, 2IEL 7tEH O8], X2 &2 20,000 1 20,000
636 9 |CHYTt 23| EEE, SEHOMA|Ot AAE A X2, 5dE 18 13,500 1 13,500
637 9 |AOIEESR NY2 HHE &2 8= IS ES O|5F X2, 20 18 13,000 1 13,000
638 9 |ZM A7tx| & ghotof g 357K Y& M7= o|dg.ol= X5, o|gtE O & 13,000 1 13,000
639 9 |MolMo| st2AL 2 18 ofo|g ™ MUIM AER|EA RS, HHE| I8, BN g5 12,000 1 12,000
640 9 |HBIMOo| St AL CHZ2H 19 oro|gH MUM AEREA XS, HHS 08, dMs U5 12,000 1 12,000
641 9 |HBIMOo| St AL CH2H 20 oro|gH MUM AEREA XS, HHS 08, dMs U5 12,000 1 12,000
642 9 |Why? People : HEf Y LEE] HHE XS AEE O, RS dF 12,800 1 12,800
643 9 |ojoi=z ESEIEY Aot ZAAA XS, SR XE2E 1Y, 45N 82 18,000 1 18,000
644 9 |2EY otF0it E2{F & Hotn|a|7t olof7| | OlXl& XI= 13,000 1 13,000
645 9 |EE Y okE0r7 S8{F£ otZa|7} 0/op7| H| OlXl& XI= 14,000 1 14,000
646 9 [oh= Aol 4 JHX| H= K HstH o 210 dstE X3, 24 I8 14,000 1 14,000
647 9 |22 X7l stHo| M A71™ XS, g 18 12,500 1 12,500




